Pozdravljeni,
tako kot vedno, najprej rešitve zadnje naloge, ki ste jo reševali.
Učbenik str. 11/5a
1. He used to wear glasses, but he doesn't now.
2. He used to have a girlfriend, but now he's single.
3. He used to have long hair, but he has short hair now.
4. He used to wear casual clothes, but now he wears elegant, smart clothes.
5. He used to have a beard, but now he doesn't.
6. He used to play the guitar, now he plays the piano.
7. He used to live in Sydney (Australia), but he lives in London now.
8. He used to be overweight, but he's slim now.
9. He used to go surfing and play rugby, but now he goes skiing and he plays golf.
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